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. [ Mega-Challenge |
There are bwenty-five
Jfoothalls in a bag. Owerall, -

|- The children have each got some packets of halloons.

@) How mony balloons does each child have?
Il b) Howrmngbolloonsmeth?e'nspadnm?
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lon is counting up in 25s from 0 to 1,000

0, 25, 50 ..

1} Circle all the numbers that Ron will say.

51 100(/’ 175/ 305
%0 258 720 25 )
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} Ron keeps counting past 1,000
Ron will shy ali of these numbers.
1,025 1,775 1,200 2,025

Explain how we know this.

beatpse X5 in 2.
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Closs 4B ore collecting penmies in jors.

Eoch jar contons 1,000 pennses.
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How many pennies are there in totel? /O

___ write your answer in numerals and words.
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- Trué or False?

If I count in 100s from zero, all of the ll
numbers will be even. | | YR
Convince me v Loms W Vs 2P armve €8

Jasmine says:

847 to the
Nearest 10 is
840.

no .
' Doyou agree with Jasmine? ‘\Tf; '

[ -

v
3
ke,

o
4
2
e
A9

Explainwhy. \yzzgqv>é C°




